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IE 15 K £ 7ok 14 v r—%4JL | HDCP Tk KAk
& B kg BE 42 37 79 15.0 64.0 500
R B 28 41 39 80 16.0 64.0 400
31 ER EE 40 40 80 16.0 64.0 300
AL #OEX 37 37 74 8.0 66.0 100
541 WA BRF 38 38 76 10.0 66.0 80
614 £ N 42 39 81 15.0 66.0
711 TH %7 37 35 72 4.0 68.0 70
81z A Eh 35 36 71 3.0 68.0
91z & 11T 39 38 77 9.0 68.0
1011 8 BAXHER 43 38 81 12.0 69.0 50
1141 Kix FE 39 39 78 8.0 70.0
12431 HIE  1F fidl 44 40 84 14.0 70.0
13431 JIIA  #X 39 41 80 10.0 70.0
14431 WA EFX 41 42 83 13.0 70.0
15431 SH =BRZ 53 43 96 26.0 70.0
1641 A EA 44 44 88 18.0 70.0
1741 R =X 44 37 81 10.0 71.0
1841 R jh2 42 38 80 9.0 71.0
19431 Bk #HH 45 41 86 15.0 71.0
20131 BA 17 42 42 84 13.0 71.0 50
2141 AK O AZ 47 43 90 19.0 71.0
2241 mH EFik 41 41 82 10.0 72.0
2341 WA BEE 40 42 82 10.0 72.0
24431 EE R 43 36 79 6.0 73.0
2541 Fr WL 45 38 83 10.0 73.0
2611 TH LT 40 39 79 6.0 73.0
2741 1R ES 40 42 82 9.0 73.0
2811 PrE B 55 46 101 28.0 73.0
29131 AR AR 49 49 98 25.0 73.0
3041 HE R 44 38 82 8.0 74.0 50
3141 e Rl 40 40 80 6.0 74.0
324 VNI 46 43 89 15.0 74.0
331 AH & 39 40 79 4.0 75.0
3441 hiZ 5 44 42 86 11.0 75.0
3541 KB FE 47 43 90 15.0 75.0
361z mik ER 46 44 90 15.0 75.0
3741 #0O —=if 52 48 100 25.0 75.0
38 FrR AF 56 49 105 36.0 75.0
394 AT HE 48 42 90 14.0 76.0
401z A FH— 48 43 91 15.0 76.0 50
4141 EA EE 43 45 88 12.0 76.0
4241 ¥ E2 49 45 94 18.0 76.0
4341 Tl % 46 46 92 16.0 76.0
4441 BE R 52 46 98 22.0 76.0
4541 EA fhif 49 49 98 22.0 76.0
4641 &% fE= 51 49 100 24.0 76.0
AT4I ElF MEA 42 38 80 3.0 77.0
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6441 £E BE 47 43 90 10.0 80.0

6511 BEH {E3E 45 44 89 9.0 80.0
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681iL BH #X 44 46 90 10.0 80.0
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N R %k F5

N R Lk

N R EE2 &N

N R [FH H=




